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Section A

I ) Multiple choice question

1. Write in number — Seventeen crore forty four lakh one thousand eight hundred fifty four

a) 17,44,01,854 b) 17,40,00,854 c) 17,33,02,854 d) None
2) Write the place value of underline digits 231,475,109

a) 100 Million b) 10 Million c) Million d) None
3) 99,999 rounded to nearest 100is

a) 100,000 b) 1,100,000 c) 10,000,000 d) None
4) 30,00,00,000 + 7,00,000 + 5 =

a) 37,00,00,005 b) 30,07,00,005 c) 30,70,00,005 d) 30,70,00,050
5) Compare XXXVI EEEE  XXXI

a) < b) > )= d) None
6) Compare : — 35[0 29

a) < b) > )= d) None
7)a) 7x6+3=__

a) 45 b) 50 c) 25 d) None
8)Lcmof6and5is

a) 60 b) 49 c) 30 d) None

9) = of 40is

a) 50 b) 20 c)4 d) 15
1L +2 =2
10 10
a) 20 b) 10 c)0 d) None
Section B

I1) Fill in the blanks
1) Compare using < ,>and = symbols - 54543134 [T 54453143,

2) Complete the missing numbers
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2,406,500 = +4000,000+___ +500
3) A positive number , negative number or zero is called an
4) A rise of 10°C is
5) The LCM of 4 ,3is
I11) Write True or False
1) In BODMAS rule always will do addition first and then multiplication.
2) The commutative property does not work for multiplication.
3) If a number is subtracted from itself, the answer is one .
4) The successor of 36,810 is 36,809.
5) In integer always negative number is greater then the positive number.
Section C
V) Solve the following.
1) Expand the number and write place value of underline digits.
a) 20,78,03,013 b) 427,234,105
2) Write the Roman Numerals for a) 850 b) 90
3) Add 5341326 + 3282003
4) Subtract 47002 — 25438.
5) Find the LCM of 64 and 112

Section D
V) Simplify.
11322 442
8 4 6
2) Divide : = + 2
12 6
3) Find the HCF of 160 and 200.
4) Solve using number line -5+ 12
5) Solve 121 x2 -33 + 11
. .8 1
6) Multiply : o X3
Section E

V1) Word problems

1) If 1575 students of a school want to go Agra by bus. If one bus can carry 75 students, how many buses

are required to carry all the students?
2) If 1 kg sugar costs Rs 26 i, find the cost of 8 kg of Sugar.
3) The LCM of 15 and 25 is 75 . Work out the HCF.
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